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ot uHAC ACJ%A
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AAB,Cq o A AC; = V82 +62 =10
BC_ BC, 6 _3

AC AC, 10 5
AB AB; 8 4

AC AC, 10 5

(B4d) =t
“\5 5/ 5




2. sinA =06, cosA+tan A 0] & F5HH? (H0° <A <90°
)

@ 05 @ 0.6 ® 07 @ 2 © o

~&B ~

sinA = 0.6 = g ojlB g

4
cosA = = tan A = Z o|ct,

4 3 31
A = = —_ ——__0
w2tA cos A + tan A 5 <+ 1”20 =3




cheo] 419 g Paha?
2 — 3sin 30° X tan 45° + 2 sin 60° X cos 60°

1+ 2 1+ V3
ol @
@1+322 ©1+33

[

=

1 V31
(%}—\J')ZQ_3X§X]‘+2XTX§
:2_§+i§
2 2
1443
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Bk of tigt AF7Fe] 7]+ 90° ©] B2 /ACB = 90°
S 8
B= =16
cos 60°

watA AB = 16(cm) ©| 22 HH2] 591 AO = 8cm




5. o A7 9] g S 7P 2R g2
@sin25° @ cos0° ® cos10°
@ tan4b° ® tan60°

B

D sin25° 2+ @ cos10°

0°<x<45° Y W, sinx < cosx
w2tA] sin25° < cos 10° < 1

@ cos0° =1
@ tan45° =1
® tan60° = V3

whha] 71 22 7k @ sin 25 °




V(1 -sinA)? - |/(sinA —1)? 9] G277 (&, 0° <A <90°)

@ 2sinA @ 2sinA +2 (@)0

@ -2sinA ® —2sinA -2

~&B

0<sinA<1co]BE=Z
sinA-1<0

/(1 -sinA)2 - /(sinA - 1)2
= (1-sinA) - {-(sinA-1)}
=1-sinA+sinA-1=0




o2 13 2ol A = 90° Q1 A7 o] A A of| 4] HlEo] W=l
Z=Ao] d& H 2 51, AB = 2vV3em , AC = Vbem , /BAH =
x, /CAH =y & o, sin? x — 2sin?y 9] 322

) )
-2 = — -2 = —
sin” x sm-y 17 X 17 17




4sin245° = tan2 30° x 2 cos? 45° O] ZF29

@ 4 @ 5 B3)6 @7




9. o2 1A sin40° 9 F2?

SO 1] ‘
! !
N I s
507 E l
0 0.64 1
@ o 2)0.64 ® 0.77 @ 1 ® 1.19
sin 40° = O:B = % =0.64
OA 1




10. o3 I-3 Zo] #EYH 919 ¢ 0 & THL=E ot gtz 59
Zo]7F 1 ¢l AFEQ A sin 50° 4 tan 50° — sin 40° 2] ZE-&?

y
1.20 Y
1
A
0.77
50° B D
O 0.64 1

@® 0.21 @ 0.64 ® 1.07 @1.33 ® 2.61

0.77+1.20 - 0.64 = 1.33




11. o3 283 Zo] ¥ix]52] do]7h 1 91 AREHNA] cos 35°+tan 35°+
sin 55° 9 #k-&?

y
1
0.70F-—-—oooo N p
0,57 - -mmmmmm e A
N\
I I
I I
I I
Y
I I
35° o
0] B C z
0.82 1

® 1.40 @ 1.96 ® 2.09 @2.34 ® 2.46

cos 35° 4 tan 35° + sin 55° = 0.82 + 0.70 4- 0.82 = 2.34




12. & T8oA tanx ] 2712 Y=
AR Fotolet

y4

1

2 ¥

0
> E
> &g CD
CD CD ——
tanx:C=:CT: D




13. o5 H7] & A9 o] dia Al &2 A BT 1E A2
H7]
O tan46° < tan45° © cos0° > tan 50°
© sin45° = cos45° ® cos47° < cosT7°
@ sin75° > sin15°

a0 206 066 @Doe 6eo6

S5 ~
@ 0° < x < 90° 2l HYoA x & gto] =754 sin x, tan x 2
o 77} Z7keih,

O tan46° > tan 45°

O cos0° =1, tan 50° > 1
.. cos 0° < tan 50°

@ 0° < x < 90° Q1 oA x o] ko] F71otH cosx & Fh2
At

.. cos47° > cos77°
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ohg Ex A7hee] g 45 B4 Ahelzka) vehd Ro
o o)

%X] CL%—‘: 3‘1—:9
= sin cos tan
32 0.53 0.85 0.62
33 0.54 0.84 0.65
34 0.56 0.83 0.67
35 0.57 0.82 0.70
36 0.59 0.81 0.73
37 0.60 0.80 0.75

@ sin32° = 0.53 @ cos34° =0.83

® tan36° = 0.73
@3 cos 36° = 2.44

@ 2sin35° =1.14

cos 36° = 0.81 ©] 2.2 3cos 36° = 2.43 ot}




15. ot 47|19 5 H Fol7 the-S THESHE sx 9F 2y of Hi5te]
Lx+ 2y ©] 2712 Tk,

2t sin cos tan

14° | 0.2419 | 0.9703 | 0.2493
15° | 0.2588 | 0.9659 | 0.2679
16° | 0.2756 | 0.9613 | 0.2867
17° | 0.2924 | 0.9563 | 0.3057
18° | 0.3090 | 0.9511 | 0.3249
19° | 0.3256 | 0.9455 | 0.3443
20° | 0.3420 | 0.9397 | 0.3640
21° | 0.3584 | 0.9336 | 0.3839

sinx = 0.2588 tany = 0.3640

o

c} -
H =

[ 2
> Het: 35°

sin15° = 0.2588 ©|B2.& x = 15 ©]1L
tan 20 = 0.3640 ©| 2.2 y = 20 ©|t}.
wabA] zx + £y = 15° 4 20° = 35° ©]t},




16.

H7]
. 1
@ sinA = cos A O tanA = ——
) ailA
© tanC = tan A ® cosC= cos A
» =
> e ©
OB & tanC = L ojct,
tanA

12
tanC = —, tanA = —
an 5 tan 12




17.

sin A +2cos A
sin A — cos A

tanA = = Q4 of,

DN | =

D 5 @ 3 31

B

of gre 7ok

2 1™

1
tanA +2 §+2
tanA -1 1_1

2

Zoj7] Alo] B, BAS 27} cos A 2 Lhe F,




18. o2 139] AABC 9|4 sinx 9] 32?2

ABED @ ABAC ©]|B 2 /x = /C
TESHBC = V152 + 82 = 17 o]t}

2HA] sinx = sinC = =3

15
17




